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3. (a) Simplify
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(b) Write the complex number 1 —1 in polar form (in the form re??, r > 0 and —7 < 8§ < 7).
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() If the polar form of /3 — ¢ is 275", compute the fourth roots of V3 — 4. (You may leave
your answer in polar form.)
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(QHV!-H ): 431 = 13
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(b) Write the complex number 8v/2 + &/2¢ in polar form, (in the form re, r > 0 and
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(c) Find the fourth roots of $v/2 + 8/2i. {You may leave your answer in polar form.)
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(d) Suppose that z; =

6 <1 s
. Compute 7120 and —. (You may leave your
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answer 1n polar form.)
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v 2. (a) Is 7w = 207 If true, prove it. If false, find complex numbers » and w for which it is

false.
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. % Derive the trapezoidal rule formula for approximating the integral / (z)dx. Include a

drawing on the plot of f given below that illustrates your derivation.
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